
 

 
Name:                                          6th Grade Math Homework                      September 25 -29             Week 7 
Please use your math notebook and/or our math website for help/videos to help with concepts on this homework. 
6th grade math website: nms6grademath.weebly.com   SHOW ALL WORK IN THE WORK COLUMN.     NO CALCULATORS!     

Monday Mon.’s Work Tuesday Tues.’s Work 
Find an equivalent fraction. 

 

8

9
 = ____ 

3

11
 = ____ 

 Use Order of Operations 
to solve. 

12 ÷ 3 × (15 - 6) + 3 

 

Find the sum. 

134,874 
       +   73,940 

 Find the sum. 

849.832 + 991.54 
 

Zoe has 5 pounds of 
potatoes.  She has multiple 

recipes that require ¾ 

pounds of potatoes.  How 
many recipes will she be 

able to make? 

 Find the quotient. 
 

6

7
  ÷  

1

2
 = 

 

 

Find the quotient. 
 

2 ÷ 
1

4
 

 

 Find the quotient. 

   

3
1

2
 ÷ 2

1

8
 = 

 

 

On Tuesday Neveah ran a 
mile in 8.34 minutes.  She 
ran another mile in 7.89 
minutes on Wednesday.  

What was the total time for 
both miles? 

 Find the sum. 
 

389.01 + 74.2 
 

 

Joshua’s Math textbook 
weighs 4.21 ounces.  His 

Social Studies book weighs 
3.99 ounces.  What is the 

difference in weight 
between the two books? 

 Find the difference. 
 

1,837.11 – 74.908 
 

 

What is the LCM of 4 and 9?  Use the Distributive 
Property to express  

28 + 42 

 

Find the product. 
 

7

10
  x  

3

6
  = 

 Find the quotient. 
 

4  ÷  
2

5
  = 

 

 
 



 

Wednesday Wed.’s Work Thursday Thurs.’s Work 
Write each fraction in its 

simplest form. 

18

4
 = ____ 

15

25
 = ___   

 
Use Order of Operations 

to solve. 
 

(15 ÷ 5 ) + 9 + ( 14 - 5 ) × 3  

Find the product. 
 

72,849 
           x      38 

 
Find the quotient. 

 5
1

4
 ÷ 3

1

2
=  

Tony has 7/8 of a candy 
bar. He wants to split the 
bar into servings that are 

3/10 of the bar.  How many 
servings can he make? 

 
Find the quotient. 

 
3

5
  ÷  

2

9
 = 

 

Find the quotient. 

  ______ 
      17 ) 3,145 

 
Find the quotient. 

  ______ 
      26 ) 3,484 

 

Find the product. 
 

29.4 x 0.18  
There are 28 student desks 

in Ms. Johnson’s class.  
Each desk measures 26.17 
inches long. If you were to 

line up all the desks end-to-
end, how long would all the 

desks be? 

 

Find the quotient. 
 

29.44 ÷ 8  
24 boxes of crayons weigh 
235.2 ounces.  How many 

ounces is each box of 
crayons?  

 

What is the GCF of 77 and 56? 

 

  
Angela has 24 golf balls and 

18 golf clubs. She wants to sell 
packages of balls and clubs 

bundled together. What is the 
greatest number of packages 
she can sell with no leftover 

balls or clubs? 

 

Find the product. 
 

1
1

3
 × 1

3

4
= 

 
Find the product. 

 

0.15 × 7 =  

 



 

ERQ 
Scoring Guide is on the back of this paper. Please answer this on the box provided on the next page. 

 

 



 

 
 



  


